General Studies for Primary Schools
Capillary action – Teacher reference

[bookmark: _GoBack]In our daily life, we see that water flows downward (e.g. waterfall). Water flows from a high place to a low place because of gravity. However, water can move upwards inside a stem. Why? 
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Reason: There are many vessels in the stem of a plant. Water can move upwards along the inner wall of the vessels which is an example of “capillary action”. The pictures below show that water can go against the gravity and move upwards along the inner wall of the vessels.
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The alcohol in a spirit lamp can go against the gravity and move upwards along the pores of the cotton string. It is also an example of “capillary action”.
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